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( echo 3
echo 5 ) > file
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echo 3 > file
echo 5 >> file
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Q@echo off
set x=0

set y=0

( set x=1
set /a y=kx¥%h + 3
echo %y% )
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Q@echo off
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2.|if [00] [000DO 1] else (00000 2]
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Q@echo off
if Y%x%==0 ( echo x OOOOO) else echo x OOOOO
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@echo off
set /a x=Y%random% %% 10
if %x% 1lss 4 ( echo OO0 ) else echo OOOO
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if Yx%==1 ( echo O
) else if %y%==2 ( echo [
) else echo O
O000000000MMif (x==1 && y==2)0000000O0O
if %x%==1 (
if %y%==2 ( echo [
) else echo O
) else echo O
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@echo off

if "%iv=="" (echo OOOOOOOOOOO

) else if "Y2"=="" (echo JOOOODO 1 000 [%1]
) else echo OOOO0OO 200000 [%1][%2]
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@echo off

if "%iv=="" (echo UOOOOODOOOONO
exit /b )

if "y2"=="" (echo UOOOOO 1 OOO [%1]
exit /b )

echo UOOOOO 200000 [%1]0%2]
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if %x%==1 goto runTrue
if %y%==2 goto runTrue
echo U

goto nextf

:runTrue

echo U

:nextf

goto 00D if0000000O00O0ODODODODODODODO (COODO for O while) 00O
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set j=1

:startl

if %j% gtr 9 goto lastl
set /a x+=]

set /a y+=j*j

set /a j+=2

goto startl

:lastl
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set /a m=n %% 2
if Y%m%==0 ( set /a x=n / 2
echon O00O0O0O%Y% )




5. IF 0000000 O0Ooogn 8

O0b00o0bo0o0b0o0bbodbbdbecho U000 %x%p0DO00ODOODLOOODOO
oooooooooooobooooooogbY%xs0O (H)DOO0bO0bOo0b0 if 00
gob 2000000
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set /a m=n %} 2

if not %m)==0 goto lastl
set /a x=n / 2

echo n 0000 %x%
:lastl
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set /a m=n %% 2

if Ym%==0 ( set /a x=n / 2
set str=n OO 0O0O)

echo %strhhxh
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